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He may take it and throw it, provided that he does not squeeze

OVERVIEW

The ¥n>92 (which permits nawa %5 7997) cites the view of 718w XaX that one
may pick up and throw away a 112 provided he does not squeeze it. The
1ssue which moon addresses here is why he is not permitted to squeeze it.
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It seems to NN that the explanation is that »IXw Nax agrees with the
1229 (that there is no 2111 for killing a 713), but nevertheless he decreed
against squeezing a 773> on account of maybe he will do 779992 by a @D -
— 2R 7TOTA KT 9I0Y TS RAW WIWIDT 7999
And 7%%%» of a wwns is forbidden 13277% out of concern that perhaps he
will Kkill it (for which there is a 21n according to everyone) and all this
(VW97 79991 R 71037 72791 and M7 RAW W7 19°97) is one decree.

mooIn cites s""w explanation:
— 5199 X928 TTYOIR 92957 W M w
And >"w1 explained that 5 xw XaX, who prohibits 7107 79°%1, agrees with

X''9 that there is a 21’11 for killing a 7>, Therefore we are 71°37 79°91 713 because Xnw
277 which is Rn7IR77 MOK.

mooIN questions *"'wID:
— MON ) MYADT NPY RI2D TYIUN 2297 ynvuny 411\0‘,71

And there is a difficulty with this explanation, for it seems from the X313

previously, that X'~ maintains that it is even forbidden to be 757 -
— *NON PN 790 9N NNPY DYDY NY 9yY IMINPT

For the X3 previously stated (according to one side of the query) that X
792 is because of the concern that perhaps he will kill it and the mwn

"It will become apparent shortly why n901n maintains that 2w Xax is 13275 and not X"12. See footnote # 4.
2 When the were M3 on w197 72" the 0»an included initially also 7337 72797 in the same 771, for if
there would be no MO°X on 711°37 77°21 the MOR of W17 79°91 could not be enforced.

3 9o .

* See footnote # 1. This is why Mmoo explains that 13213 2Xw Xax.

> However, according to mooin that 11275 2w XX it is understood that it is permitted to be 71991, because
the 771 (X777 7712) was made only by 77°21 but not for n25%. See ‘Thinking it over’ # 1.
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(which states 1179° X9) is according to X''9; so how can we say that 2w Xax
agrees with X" that there is a Xn»X77 2170 to kill 2212, for then 9Xw Xax should maintain
that it is MOKX to be 7791 just like X"1 because 377> Xnw, but the Xn>92 of MWW XaX
maintains that you may be 193 1779n..

mooIn however offers a defense for >"ws:

991 IND NY 95997 9115 ¥ 17919
However one can say, that previously the X715 did not remain this way;
that 799 X7 is because of 217 ®»Ww and X°11 X"9; rather the X3 concluded that 799° XY is

only 117 X7 and because of 1w Xnw, and therefore it is possible that by day everyone
agrees (even X'") that it is 9N to be 1997, for we are not M7 RHW 7.

SUMMARY

"7 maintains that 28w Xax agrees with X" and is therefore Xnw 79751 M3
297, while mooIN maintains that 13275 918w XaR and that the 771 of 79997 by
71°0 is a 77°TA X717 with 7997 by ¥I¥79 because 277 Rnw.

THINKING IT OVER

1. According to m»oin we find that 918w Xax prohibits 77°9% by 0°12 because
of a (;17°12) 7713 of WD n3n. However there is no (77°137) 7191 regarding
719 MY because of the M7 Xnw w1w1d Ms> MoR.” Why the difference?!®

2. mooin first asks a question on "W (from X7 X" N7 X2W) and later
rescinds it.” What did m»oin think initially; did nm1991n not know that the
R170n is because of 7v° xnw?!'?

3. According to the ''%"2»7 that 727 would kill a 715 (only) on a weekday
(but not on NAw); why could we not say that this Xn>92 (of "1 122 nX 7991:7)
is discussing a w1315 and 2IXW XK is 73077 K 79290 71?1

® See “Thinking it over’ # 2.

7 See footnote # 5.

¥ See X"5w.

? See footnote # 6.

19 See (o»nn MK B2 vy 12 070 MY) T vem.

' See following 7121 7"7 oo

2 See X"w1mn [and TN X"wann why this question is not according to *"ws that 721 killed them on naw].
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